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What does A include?

• A client who has a problem, you describe 
the problem briefly.

• You have a CONSULTATION with the client, 
and agree a solution.

• You briefly describe the suitability of your 
solution.

• You identify success criteria.

• Make sure you have all three parts

Word count: ~500 words.



Part 1: “The Scenario”

The client is ... [paraphrase the problem]. 

After consulting with them, I suggested 

that… [paraphrase your solution]

Part 2: “Rationale for solution”

A brief outline of what your product will do 

to solve client’s problems, and justify why 

you are going to use Java.



Part 3: “Success criteria”

~5-7 criteria that are relevant and properly 

evaluate your project.

Examples:
• The client can add residents with details.

• The client can easily edit details of the residents.

• The program can delete residents.

• The program can calculate the cost for the current month.

• The program can calculate the total cost of the resident’s stay.

• The program can search for a resident to see if they are currently staying 

in the care home.

• Allow the client to see a list of all the current residents. 


